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HS FR PR B EHCEL) AEAR FIER(E2) e eSS
10595 |90/ L |z FRHET HY (BETIEAWL) 2R 24H »HY (BEEERLT) 7wl
10596 (801K S FRHET HY (BETIEAWL) 2R 25H HY (SEEERLT) mL
10597 |10mkim | &M BREREFTERN HY (BETIEAL) 2R 23H HY (B - RBEMEHK35) mL
10598 |10k |2 BRREFTE N HY (BETIEAL) 2R 248 »HY (BB - REMK35) mL
10599 |10k | B A Sl HY (BETIEAWL) 2R 25H »HY (HF - REMWK3T) L
10600 |10k | S BREETERN HY (BETIEAL) 2R22H »HY (BB - REMERIT) mL
10601 |10mkKim |1 BREREFTERN HY (BETIEAL) 2R 23H HY (B - ®RBEMEK3) mL
10602 |10k | S N HER 2R 248 HY (BB - REMERIT) mL
10603 |10/ |2 & HY (BETIEAWL) 2R 25H »HY (HF - REMBK3T) 7wl
10604 (301X 7k J\IEFH HY (BETIEAL) 2R 23H HY (BB - REMERIT) Bilza =]
10605 |801% S BRREFEN HY (BETIEAWL) 2H?21H - L
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H5 FR MR EE#CEL) FER FRER CE2) AR IE S
10606 |107%kiH |B1E R SRR 2R228 1) (F%59) HL

10607 [204% B R HY (BETIEARW) 2R 19A - L

10608 |10m%kiH |&1E BRREREN HY (BETIEARL) 2B 24R - L

10609 [204% gogi R HY (BETIEARW) 2R 19A - TILNA b
10610 |10f% S IR HY (BETIEAWL) 2A238 HY L

10611  [304% gogi B RREFTE N HY (BETIEARL) 2R20R Y BileNiE=]
10612 |40f% S IR HY (BETIEAWL) 2824H HY BEx

10613 |504% 7 I\ HY (EFETIEAEL) 2B 23H HY) SifzNEA=]
10614 |10mkim | B BRREFEN HY (BETIEAWL) 2827H »HY (HF - REMWK3T) 7L

10615 [104% B S RREFTE N HY (BETIEARW) 2R 25A HlY (BE - REMEK3T) HL

10616 |10k |ZME NEFH HY (BETIEAWL) 2824H »HY (HF - REMWK2T) 7L

10617  [404% gogi B RREFTE N HY (BETIEARW) 2R 241 HY (BiHa2) E=vag=|

10618  |601% gt INIEE™S HY (BETIEARL) 2R238 HY (Bi542) R—b & A <—
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10619 [70£% pogi BRREREN SRR 2R 258 HY (Bi542) R—b & A <—
10620 [404% B B RREFTE N HY (BETIEARL) 2R22R Y E=vag=|

10621 |10m&im |BMHE BRREFEN HY (BETIEAWL) 2A248 HY 3L

10622  [504% gogi B RREFTE N HY (BETIEARW) 2R 23R HY NR— k& A<—
10623 |10f% S BRREFRERN HY (BETIEAWL) 2A248 HY 3L

10624  |404% gogi B RREFTE N HY (BETIEARL) 2R 241 HY (BEERERLT) EilZN:g=]
10625 [501% Btk BRREREN HY (BETIEARL) 2R228 HY Eeyan=|

10626  [104% B B RREFTE N HY (BETIEARW) 2R22R HY L

10627 |10f% S BRREFEN HY (BETIEAWL) 28 25H »HY (HF - REMWK3T) 7L

10628 [704% B S RREFTE N HY (BETIEARW) 2R 25A - L

10629 |10f% S IR HY (BETIEAWL) 2A248 - 3L

10630 |90A% M+ %tk ERHET HY (BETIEARW) 2R26H HY (BEERERLT) HL

10631 |90AEM £ %tk ELHE HY (BETIEARL) 2R 258 HY (BEERERLT) HL
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10632 |40f% S BRREFEN HY (BETIEAL) 2823H HY Eyan=|

10633  [604% gogi B RREFTE N HY (BETIEARL) 2R 260 - N =]

10634 [304% Btk BRREREN HY (BETIEARL) 2R278 - Eeyan=|

10635 [504% B B RREFTE N HY (BETIEARW) 2R 260 - E=vag=]

10636 [701% pogi BRREREN HY (BETIEARL) 2B 26H 1Y) HL

10637  [204% gogi B RREFTE N HY (BETIEARL) 2R17RH - NR— & A<—
10638 |90AE MU £ %tk ELHE HY (BETIEARL) 2R278 HY (BEERERLT) i L

10639 [604% gogi B RREFTE N HY (BETIEARW) 2R 260 HY (BEERERLT) EilZN:g=]
10640 [804% pogi IR HY (BETIEARL) 2B27AH HY L

10641 [804% gogi R FREIR 2R 260 HY L

10642 |604% gt e HY (BEETIEAWL) 2B 22A - NR— & A <—
10643 [704% otk s HY (BETIEARL) 2B 25A - L

10644 |601% S t HY (BETIEAWL) 2824H - Egan=|
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10645 [304% gt tm HY (BETIEARL) 2B 23R 1Y) L

10646 [104% B x|l HY (BETIEARW) 2R 260 HY L

10647 |10% i PEMREEFTE R HY (BETIEAL) 2A238 - 3L

10648 [304% otk EFH HY (BETIEARW) 2R21RH HlY (BE - REMEKE3D) E=vag=|

10649 [304% gt EFH HY (BETIEARL) 2R228 HlY (BE - REMHEHE3D) R— b & A <—
10650 [104% B x|l HY (BETIEARW) 2R 260 - L

10651 |10mAim |BMH REMRIEFTE R HY (BETIEAWL) 2A25H - 3L

10652 [304% B x|l HY (BETIEARW) 2R 241 ) E=vag=|

10653  [40f% gt tm HY (BETIEARL) 2B 25A - NR— & A <—
10654 [704% B x|l HY (BETIEARW) 2R 260 - Sk=ES

10655 [10£% B tm HY (BETIEARL) 2B 25A 1Y) L

10656 [204% B REREATE N HY (BETIEARW) 2R 23R HY L

10657 |10f% S ft&m HY (BETIEAWL) 2824H HY (FR67) 7L
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10658 [10£% Btk REMREATE N HY (BETIEARL) 2R248 ) (FI%67) HL

10659 [804% B e HY (BETIEARW) 2R 19A - L

10660 |70£% pogi & HY (BETIEARL) 2B20A - L

10661 |10m%Ri |2t =T HY (BETIEARW) 2R 260 - L

10662 |10mAim |BMHE = |l 1 HY (BETIEAWL) 2A248 HY 3L

10663 |10m%RiH |t S|l HY (BETIEARW) 2R 241 - L

10664 [501% Btk REMREATE N HY (BETIEARL) 2R 258 - Eeyan=|

10665 |404% 2% wj ol ki HY (EFETIEAEL) 28248 HY) SifzNEA=]
10666 [501% B tm HY (BETIEARL) 2R268 - Eeyan=|

10667 |10m%RiH |2t s HY (BETIEARW) 2R 25A HY L

10668 [501% pogi REMREATE N HY (BETIEARL) 2B 24R - NR— & A <—
10669 [104% B REREATE N HY (BETIEARW) 2R22R - L

10670 |10k |ZME = |l 1 HY (BETIEAWL) 2A268 HY 3L
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10671 |10f% S ftE&m HY (BETIEAWL) 28 17H HY (F1R40) L
10672 [104% B e HY (BETIEARW) 2R 23R HY (ZR—vViE#10) #L
10673 |10f% S ftE&m HY (BETIEAWL) 2823H HY (FR67) L
10674 |10/ |2C1E L& HY (EFETIEAEL) 2R 26H HY L
10675 |10f% S L&m R 2A268 HY 3L
10676  [504% B e FREIR 2R26H Y E=vag=|
10677 |70f% S ft&m HY (BETIEAWL) 2826H HY BEx
10678 [704% B e FREIR 2R 25A HY L
10679 |70f% i L&m R 2A25H HY 3L
10680 [504% B e HY (BETIEARW) 2B 25A - E=vag=|
10681 [304% Btk e HY (BETIEARL) 2R 258 HY Eeyan=|
10682 [104% B REREATE N HY (BETIEARW) 2R 23R - L
10683 |10m%kiH |&1E REMREATE N HY (BETIEARL) 2B 24R - L
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10684 |10f% S ftE&m HY (BETIEAWL) 2827H HY (F1R40) L
10685 [304% B e HY (BETIEARW) 2R 260 - L
10686 [301% gt EFH HY (BETIEARL) 2B 25A 1Y) L
10687 |10m%kiH | Bk x|l HY (BETIEARW) 2R 260 - L
10688 |10t B tm HY (BETIEARL) 2R268 1Y) (F%40) HL
10689 [104% B x|l HY (BETIEARW) 2R27RH HY L
10690 |107%kiH |&=1E tm HY (BETIEARL) 2B27AH HY HL
10691 |10m%RiH | %t s HY (BETIEARW) 2R 25A HY L
10692 |40f% S ftE&m HY (BETIEAWL) 2824H HY (F1R40) BifzN:d =]
10693 [104% B REREATE N HY (BETIEARW) 2R 260 - L
10694 |40f% S BINREEFTEN HY (BETIEAWL) 28 25H HY Egan=|
10695 [204% B BN RERTE N HY (BETIEARW) 2R22R - Sk=ES
10696 |10m%kiH |&1E B HY (BETIEARL) 2B27AH HY L
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10697 |10f% S BT HY (BETIEAWL) 2826H »HY (F161) L
10698 |10m%ki | Bk BN RERTE N HY (BETIEARW) 2R 260 - L
10699 |10m%kiH |B1E B HY (BETIEARL) 2R 258 HlY (BE - RBEMEHR26) HL
10700 [304% B BN RERTE N HY (BETIEARW) 2R 260 - E=vag=]
10701 |10k | B BT HY (BETIEAWL) 2827H HY (HF - REMHEK26) L
10702  [104% gogi B HY (BETIEARW) 2R27RH Y (F61) HL
10703 |10f% S BT HY (BETIEAWL) 28 25H »HY (F#61) 7L
10704  |404% gogi B HY (BETIEARW) 2B 25A ) BileNiE=]
10705 |10f% S BT HY (BETIEAWL) 2826H HY (F161) 7L
10706  [104% B BN RERTE N HY (BETIEARW) 2R21R - L
10707 |10f% S BT HY (BETIEAWL) 2827H »HY (F161) L
10708  [104% B B HY (BETIEARL) 2R27RH Y (F#61) L
10709 [804% pogi B HY (BETIEARL) 2R268 Y (F#%61) HL
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10710 |10f% i BINREEFTEA HY (BETIEAL) 2826H »HY (F161) 7L
10711 |404% St BMNGREFTEN HY (BETIEEW) 2A26H HY) =8
10712 |20% i BINREEFTEA HY (BETIEAL) 2826H - Egan=|
10713 |804% S —E™ HY (BETIEEW) 2R 25H - BEX
10714 |401% i —BREFTERN HY (BETIEAWL) 2823H - BEX
10715 |104% 7 —BREFEN HY (BETEEW) 2R 248 - L
10716  |40f% i —E HY (BETIEAWL) 28 25H HY BEx
10717 |604% 7 —BREFEN HY (BETEEW) 2R 228 HY) =8
10718  [20f% i —BREFTERN HY (BETIEAWL) 2A26H HY TILNA K
10719 |504% S —BREFEN HY (BETEEW) 2A16H HY) N
10720 |80f% 7 —B9m HY (BETIEAWL) 2A218 »Y (EEMBKS) mL
10721 [804% gogi —Bm HY (BETIEARL) 2R 260 Y (ERMERS) L
10722 |50% S BRI E™ HY (BETIEAWL) 2824H - Egan=|
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HS FK el BE#(EL AELR FAEHCE2) B fih i
10723 |501% i KIEREFTEA HY (BETIEAL) 2823H HY JE8
10724 |504% St KAVEREFTEN HY (BETIEEW) 2R 248 HY) =8
10725 |40f% S PERT S ET HY (BETIEAL) 28 25H HY BEX
10726 |10/ | B EAREFMEN HY (BETIEEW) 2A26H HY T L
10727 |30f% S =hm HY (BETIEAWL) 2826H HY (FR42) BifzN:d =]
10728 |104% S =hh HY (BETIEEW) 2R 26H HY (Fr42) 7L
10729 |30f% i ARREFTEN HY (BETIEAWL) 2A19H HY 3L
10730 |504% 7 ARREFTEN HY (BETEEW) 2A21H HY) =8
10731 |50f% i ARREFTEN HY (BETIEAWL) 28 25H »Y (Hii540) Eyan=|
10732 |104% S ARREFTEN HY (BETEEW) 2A17H HY mL
10733  |10f% S ARREFTERN R 2A248 HY L
10734 |404% S ARREFTEN HY (BETIEEW) 2R 26H HY) BEX%
10735 |30f% S FEEPET HY (BETIEAWL) 2A18H HY (FK52) E=zan=]
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10736 [304% pogi HETET HY (BETIEARL) 2R 168 ) (F%52) R—b & A <—
10737 |104% S ARREFTEN AR 2R 248 HY (F152) 7L

10738  [404% Sk ARREFTEN R 2B 24H HY BEX

10739 |404% 7 ARREFTEN AR 2R 248 HY (F152) BEX

10740 |30% S FEEFET HY (BETIEAWL) 2A178 HY (F#K52) E=zan=]

10741 |104% gogi AFET HY (BETIEARW) 2R 241 HY L

10742 |40F% S ARREFTEN HY (BETIEAWL) 2824H HY Egan=|

10743 |304% 7 ARREFTEN HY (BETEEW) 2R 248 HY) =8

10744 |10 |ZME ARREFTEN R 2A248 HY 3L

10745 |10/ |20 ARREFTEN AR 2R 248 HY mL

10746 |30f% S ARREFTERN HY (BETIEAWL) 28 25H HY Egan=|

10747 |&&E - - - - - -

10748 |40% i ARREFTERN HY (BETIEAWL) 2A218 HY W= Z A<~
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HS FK el BE#(EL AELR FAEHCE2) B fih i
10749 |401% S AR™ HY (BETIEAWL) 28 25H - Egan=|

10750 [104% gogi AFEH HY (BETIEARW) 2R 250 - L

10751 |40f% i AR™ HY (BETIEAWL) 2A228 HY W= Z A<~
10752  |404% S AKE™ HY (BETIEEW) 2R 25H HY) N3]

10753 |10f% S AR™ HY (BETIEAWL) 2A228 - 3L

10754 |104% S ARREFEN HY (BETEEW) 2A26H - L

10755 |60f% 7 —Fh HY (BETIEAEL) 2A228 HY (BHL2) E=y A=

10756  [70f% ik —Fh HY (BETEEW) 2A26H HY (SEEERT) L

10757  [30% i —Fh HER 28268 HY (SEEERT) BileNEd=]
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